IE

=
A

RER L &

)

AEHE . noE8H1B-118B15H

R

£

2
A

1
i

it [a]

3
N

m1-3-5%

>
~
/

£ TEF

[==]
>

EFEAKE 108106 104 BFEE

K<
o | M <
"
e \
o | | EmE<E
g 4
<t W
S Bl wmm<E|
B
LWE<E| o
BuE<E| 9
K<
o | DR
"
G 3 0] $2
W Bt 46 1) 32 <k
g 4
o ™M
= 2| wmsE<E | 2
B
DRWE<E |  ©
BUE<E| O
K<
" | mmE<E
4
b o | ems<s
S =
#| | Kms<Em| S
it
nEE<E| I
BWE<E | O

1. K% - FREERAE - EEMRABKRKREH A




21 KE% - FTEEMARZ TR

Hfih
IR _ e . = )
Bil | REBEFE e RE/MIIBRE FE AR 1% 3k 5 1% EEER SKIME (REBZKIE - &
TMEE )
Bg
I;S;LEE 80.00% 0.00% 4.44% 0.00% 6.67% 4.44% 4.44%
EEm1
Bg
B+ El;ﬁgﬁﬁ 85.00% 0.00% 0.00% 0.00% 5.00% 10.00% 0.00%
HEim 3
=2
1: ;$$ 79.41% 0.00% 17.65% 0.00% 2.94% 0.00% 0.00%
EEWS
108 B B - . . _ — —
FEWM1IEF
B
Bt 1;6;$$ 100.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00%
XMW 3
=2
1: ; EE 66.67% 0.00% 0.00% 0.00% 33.33% 0.00% 0.00%
EEWS




22 KE% - FTMFEA ZERKE

’ —_ PERRE EX R 2P L " y HRTES
BEH | EXEFE - ST B JEE s EllZ CUEESEHE AR =gl
=3 E
)
108 B2
. 72.22% 2.78% 2.78% 2.78% 0.00% 11.11% 8.33%
SEW1E
5 106 B35
B+ . 70.59% 5.88% 2.94% 2.94% 2.94% 8.82% 5.88%
£ K]
104 B25E
Bk s 62.96% 0.00% 3.70% 0.00% 7.41% 14.81% 11.11%
2=ms
108 B2 B B - - o -
SEW1E
106 B2
Bt = 1 4 100.00% 0.00% 0.00% 0.00% 0.00% 0.00% 0.00%
$I \;
104 B34
s s o 50.00% 0.00% 0.00% 50.00% 0.00% 0.00% 0.00%
FEMS




231 KfE% - IRBEZHERY-2XN 15 - 2XR3IF

BEETE 108 BERER 1 F 106 BERER 3 F

B B4 Bt B+ Tl m

1. BESEHE 0.00% — 2.94% 0.00%
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4. HIFEHE 28,001 JTTZE 31,000 7T 22.22% — 17.65% 0.00% 0.00% 0.00%
5. HYEE% 31,001 JTE 34,000 7T 13.89% — 17.65% 0.00% 19.23% 0.00%
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15. 495 =% 65,001 752 70,000 7T 0.00% — 0.00% 0.00% 0.00% 0.00%
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